25C4366

Silicon NPN Epitaxial

HITACHI

Application

Low Frequency amplifier

Outline

MPAK

1. Emitter
2. Base
3. Collector
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25C4366

Absolute Maximum Ratings (Ta = 25°C)

item Symbol Ratings Unit
Coliector to base voltage Veso 60 Vv
Collector to emitter voitage Veeo 50 Vv
Emitter to base voltage Veso 15 v
Coliector current I 300 mA
Coliector power dissipation P 150 mW
Junction temperature Tj 150 °C .
Storage temperature Tstg -5510 +150 °C
Electrical Characteristics (Ta = 25°C)

Item Symbol Min Typ Max Unit Test conditions
Collector to base breakdown Verceo 60 — -— \ le=10pA, I =0
voltage

Collector to emitter breakdown  Vgaeeo 50 — — v lo=1mA, Ry =0
voltage

Emitter to base breakdown Vemesso 15 — — \ le=10pA,1,=0
voltage

Collector cutoff current { — — 1 pA Vepe=50V,l.=0
Base to emitter voltage Ve — — 0.75 Vv Vee=6V,lc=1mA
'DC current transfer ratio Are, 800 — 2000 Ve =6V, I, = 100 mA

(pulse)
hees 500 — @ — Vee =6V, lc=1mA

Collector to emitter saturation Vg — — 0.3 \ o =300 mA, I; = 30 mA
voltage (pulse)

Note: Marking is “ZI-".
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DC Current Transfer Ratio hgg
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Gain Bandwidth Product vs. Collector Collector Output Capacitance vs.
Current Collector to Base Voltage
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